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Mathematics

1. For any two vectors & and B, consider the following

SEOEMREnts |
1.|@+b|=|&-b|e & b are orthogonal,
2|&+B|=|&|+]B| e & B are orthogonal

3|E+ B =|TF+|BF & & Bare orthogonal,
Which of the above statements aré cormect 7

{a) 1 and 2 only (k) 1and 3 oaly
(c)2andJonly (d) 1,2 and 3

Twa vectors 2 + mj= 3nk and 5+ 2m j+ n & are such

that their magnivodes are respectively 414 and 435,
where m, n are inregers. Which one of the following is
oommect 7

() mtakes 1 value, ntakes 1 valee

() m takes 1 value, r rakes 2 values

(€] m takes 2 values, n takes 1 value

(d) m takes 2 values, n takes 2 valoes

L3
If J{f'—l]’ldrnhg,lhmwhuisﬂmnm:ufx?.
182

W é ®)

ln4 @

If [fode=L and [ftx)de=-2 then what is the
Aid=g e | 6

o
value of [ fix)de?
2

(a) %

3
(4] 3

5 . d:-

What is the value of
it 15 the value —?—M i }?
(ean™ (x/a)k/a={tan"" (x/ b} /b

i) I te

oty [ e/ (van” esBl b

[a® + %)

[ftan~ (e/ania + {tan”? (/B0 /)

] o 4+
[{aan! (x/a)} e+ fuam™ (/b /)

d

(d) T2 $E

1%
1] '—E;
{d) -3

. What is the equation of the curve passing through the

&

oigin and satsfying the differsndal  equation
dy={ytan x+ e x)de?

(@) y=xomy b yoxsx

[€) ay =g x (dl ysinx=2x

What iz the soluon of the differsnrial equation

el

10,

11.

12

13

14,

(a) y + tan (x + y)=¢ {h}y-m{{lzﬂlu
-

[n],vuan{“;zﬂ].c (dyy+ m{f_;ﬂ}..;
For what value Iﬂf k, does the differential equarion
%-hmtﬁthwnfnmldﬂﬂ?

(@) -5 o0
{e) 0.01 td) qay!

. What isfare the critical poiniis) of the Ffmction

fix)=x** (5- Zxon the interval (-1, 2) 7
() 1only o1
3] %trnl}' id) n,g

Match List I with List [1 and select the correct answer
using the code given below the lists :
LintI List T
A flx)=cosx 1. The graph cuats yais in |
infitite number af points
B. flzl=lnx 2. The graph cuts x-axis in
two points -
C. fix)ex®=5c44 3. The graph cuts y-axis in
only ane point
D flx)=e" 4. The graph cuts x-axis in
ondy one palst
5 The graph cues x-axis in
infinire number of paints
Code :
A BE C D
@1 4 5 3
b1 3 5 4
s 4 2 3
@ms 3 I 4
I fx)=(x + 1™ i continiseus at x =, then what Is
[ equal o ?
{a} 1 (b} e
©3 @ ¢
What is the solofion of the differentisl equation

{x+ ¥)dr - dy)=drx # dy ?

(@r+y+nir+yi=e (Br=y+lnfxsyi=c
Ely-x+lifx+y)ee [dy-x-bix-yi=¢
If £ + y =12 what is the maximum value of xy ?

(a) 25 () 36

(£) 49 {d) &4

The lower 24 m portion of 8 50 m tall tower is painted
green and the remaining portion red. What is the
distance of & palnt on the ground from the base of the
tower where the two different portions of the wwer

subtend equal angles ¥
(2] 60 m (B T2 m
()P0 m (d) 120 m
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15.

16

17,

18.

19.

21

22.

If A, Band C are angles of a ttiangle such that tan A=],
“tan B =2, then what is the value of tan C ?

(@0 ™1

(©2 @3

What is the acute angle between the lmes
Ac+By=A+Band A(x-y)+B(x+y)=2B?

A

A%+ B
(c) [an-l [ﬁ] (d) 6001
VA~ +

If the sum of the squares of the distances of the point
(%, , %)from the points (g, 0, 0)and (- g, 0, 0)is 2¢%, then
which one of the followm is correct ?

@ x*+ =2~ y -2 D) t+d=d-yt-2
©F-F=F-y -2 (x*+P=+yt+d?
Under Wthh one of the following conditions does the
circle x% + y2 + 2gx + 2fy + ¢ = 0 meet the x-axis in two
points on opposite sides of the origin ?

(@c>0 (b).c<0

©c=0 (d)c<0

If pbe the length of the perpendicular from the origin on
the straight line x + 2by = 2p, then what is the value of

(a) 45°

b?

@1 (b} p
! V3
1 3

© 5 (0] _é_

What is the equation to the parabola , whose vertex and
focus are on the x-axis at distances aand b from the origin
respectively ? (b>a>0)

@y'=80-9(x-0) (®)y’=40+a(x~0)
©y =40-a)(x+a) (d)y*=4(-a)(x-a)
What is the equation of a circle, whose centre lies on the
x-axis at a distance h from the origin and the circle passes

. through the origin ?

@x*+y*-2hx=0 () x*+y*-2hx+h =0
©x*+y*+2hy=0 (@ x*+y*-h=0
Which one of the following is correct ?

The three planes 2x + 3y -2 -2=0,

" 3x+3y+3-4=0,x-y+2z-5=0intersect

23.

24

(a) at a point (b) at two points -
(c) at three points - (d)in aline
If the eccentrf and length of latusrectum of a

hyperbola are ;3 and 1—:— units respectively, then what

is the length of the transverse axis ?
-(a)%unit () 12 unit

15 15
— uni d) — unit
(c)2 t ()4um

In what ratio does the line y —x +2=0 cut the line
joining (3 -1)and (8, 9)?
(@2:3

©3:-2

b)3:2
d1:2

26.

27.

29

31

32.

Directions : The following four (4) items consists of

two statements, one labelled as the ‘Assertion (A)’

and the other as ‘Reason (R)”. You are to examine

these two statements carefully and select the answers

to these items using the codes given below :

Codes :

(a) Both A and R are individually true and R is the-
correct explanation of A

(b) Both A and R are individually true but R is not the
correct explanation of A

(c) A is true but R is false

(d) A is false but R is true

; (23 10
Assertion (A) : If A-(l 4),8-(0 1], then

(A+BP=A%+B%+ 248,

Reason (R) : In the above AB = BA

Assertion (A) :

If A_(cosa smu)‘ o
cosa sina

B _ cosa cosa

“\sina sina
lenon (R) : The product of two matrices can never be
equal to an ndennty matrix. '

Auertion(A):]sm xdx=2jsin7xdx

),thenAB;eI.

o

0
Reason (R) : sin’ x is an odd function
Assertion (A) : If <[ m, n > are direction cosines of a
line, there can be a line whose directioh cosines are

[Bont |md+n? Jn2+l2
Y 2y 2 'Y 2

Reason (R) : The sum of direction cosines of a line is
unity.

What is one of the values of i + v ?
(a)al'1 \ Ol
i

=i
()iT (d)i7§-
If the equation x + k% = 2(k + 1) x has equal roots, then
whatilsthe value of k ? )
(a "3 (0} 3
©0 @1
Ifx= a‘” "3, then what is x° + 3x equal to ?

(a) Zero (b)'a+[£) )
o) wnf)

If X34 yV3 4 8¥3 = 0 then what is (x + y +5)° equal
to? -
@1

(©) 3%

®3
(d) 27 oz

, 6 b careinG.P.with1 <a<b<n andn>1isaninteger.

log, n, log, n, log, n form a sequence. This sequence is.
which one of the following ?

(a) Harmonic progression (b) Arithmetic progression
(c) Geometric progression (d) None of these

£ Josh
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34.

35.

36.

37.

38.

39

40.

41.

42,

What is the value of
cosec (7 + 6) cot {(9n/2) - 6} cosec? (2x - 8) ’
cot (2 - 6) sec? (n - B)sec{(3n/2+ 0}

@o . (b1

©-1 (d)

If 3%V 4+3%*D 230, then what is the value of
S

(230 (b) 60

(c) 81 (d)90 ‘

Let f:[-100m,1000n] —»[-1,1] be defined by
f(8)=sin 6. Then what is the number of values of
0 €[-100 m, 1000 ] for which f (8)=07?

(a) 1000 (b) 1101

() 1100 (d) 1110

Which one of the following is the plane containing the
x-2 y-3 z-4 ‘

]ineT=T=Tand parallel to z-axis?
(@) 2x-3y=0 (b) Sx-2=0
(€)5y-3%=0 (d)3x=-2y=0

Which one of the following statement is not correct?

(a) Median divides distributions  into two equal
subgroups ,

(b) The third quartile is the same as the 75th percentile

(c) The 5th decile is the same as the 50th percentile

(d) The 50th decile is the same as the 5th percentile

The mean weight of all the students in a certain class is

60 kg. The mean weight of the boys from the class is

70 g, while that of the girls is 55 kg. What is the ratio of

number of boys to that of girls ?

@2:1 () 1:2

©1:4 (d4:1

Frequency curves for the distribution of blood pressure

readings of certain athletes before exercise (A) and after

exercise (B) are plotted together as shown in the figure

above. From the frequency curves, which one of the

following can be concluded?

(a) Both distributions are identical

(b) Both distributions have the same mean value

(c) Both distributions have the same mean value but
different variance \ .

(d) Both distributions have the same variance but
different mean values

If the slopes of the line of regression of Y and X and of X

and Y are 30'and 60" respectively, thenr (X, V)is :

(@-1 (b1

1 1
d) -
(© N (d 7 |
What is the probability of getting five heads and seven
tails in 12 flips of a balanced coin? :

@Caz5/(2) b€ 12 5/(?)
©C25/(2% @caz7v@

43

44

45

46.

47

48

49.

50.,

51.

- (a) -4

The pbints (2-2),(84),(4 6)and (-1, '1) in order are

the vertices of which one of the following quadrilaterals?

(a) Square

(b) Rhombus

(c) Rectangle (but not square)

(d) Trapezium

If pbe the length of the perpendicular from the origin on

the straight line ax + by = pand b= 73, then what is the

angle between the perpendicular and the positive

direction of x-axis ?

(a) 30° (b) 45°

(c) 60° (d) 90°

The straight line ax + by + ¢ =0 and the coordinate axes

form an isosceles triangle under which one of the

following conditions? o

(@)|a|=|b] Mal=|c|

()| b]=]|c| (d) None of these

What is the centre of the sphere ax? + by? + cz® - 6x = 0,

if the radius is 1 unit?

() (0,0,0)

(b) (1,0,0)

(©3,0,0

(d) Cannot be determined as values of ¢ b ¢ are
unknown

Under what condition do <i %, k> represent direction

2

cosines of a line?

1 1
k== . - b)k=-2
(@) 3 (byk >
(©k=2 % (d) k can take any value
. 2 x+2
What is the value of lim [5—-—) ?
xso{Xx+2
(a0 (b) ¢*
©e? ‘ @e*
If fx)=(x+1)tan"* (%), then what is the value of
f10)?
T n
LA by X]-1
@ (4) ' ( )(4)

of)

What is_the x-coordinate of the point on the curve
f (x)=4x (7x - 6), where the tangent is. parallel to
x-axis?

n
(d) 2

1 -2

@ 65 ® 7
1.

© 7 (d)g

1 , ' d%
If sin x cosy=—, then what is the value of —% at
2 dx?

3
4’4

(b) -2
©-6 @o
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52.

53.

54,

55

56.

57,

58.

59.

60

61.

62.

() 0<x<9

is increasing? (f(x)>0)
(a)0<x<3 (b)-3<x<0
(d)-3<x<3
If the derivative of the function

af+b  x<-1
J&) b*+ax+4 x251
is everywhere continuous, then what are the values of ¢
and b?
(a)a=2b=3 (b)a=3b=2
(a=-2b=-3 (da=-3b=-2
A wire 34 cm long is to be bent in the form of a
quadrilateral of which each angle is 90°. What is the
maximum area which can be enclosed inside the

quadrilateral?
(a) 68 cm® (b) 70 cm?
(c) 71.25 cm’ () 72.25 cm?
What is the degree of the differential equation
2 3
k i—’; = |-1 + (gy-] , where k is a constant?
i
fa)1 (b) 2 ©3 (d) 4
Under which one of the following conditions does the
. dy ‘ax+b ‘ :
solution of == = —— represent a parabola?
dx c¢y+d
(a)a=0,c=0 (b a=1,b=2c#0
(©a=0,c20,b=0 da=1c¢=1
What is the value of [(Vx + x)" d?”
(@ In(x+Vx)+c () 2ln (1 +Vx)+¢
(©2In(x+Vx)+c (d) 2In (x -Vx)+¢
If f(x)is differentiable everywhere, then -which one of
the following is carrect?
(a)| f|is differentiable everywhere
. MIf [*is differentiable everywhere
(c) f| f1is not differentiable at some points
(d) None of the above
Let f: R - R be defined as f (x)=ax? + bx + g4 b, ¢
being fixed non-zero real numbers. Which one of the
following statements is correct, in general?
(a) If b? - 4ac > 0, then f "(0) does not contain 0
(b) 1f b - 4ac <0, then f~(0) must contain 0
(¢) If b? - 4ac> 0, then £ }(0) may contain 0
(d) If b* - 4ac <0, then £~}(0) may contain 0
What is the coefficient of x* in the expansion
Q-2+ -4x+ )
@) 101/(51? ®)5°
©5 (d) 101/{(6H 4N}
X4 fl—b sX200 3 then what is the value of x ?
b+¢ c+a c+b '
(@0 )1
(c)a+b+c (d) abe
What is the value of
[(1+i V30 +{(-1-i 43y 212
(a)1 (b)-1 ©2 @0

What is the interval in which the function f(x)= J9 -x?

63.

64.

65.

66.

67.

68,

69.

70

71

()30

72,

‘How. many real values of x- satisfy the equation

|x|+]x-1|=1?
@1 (b)2
(c) Infinite (d) No value of x
If Ais any 2x 2matrix such that
12 A= -10
03" |63
then what is A equal to ?
=51 : -5 -2
b .
(a)[-z 2] ()[1 2|
-5 -2 5 21
(c)[z 1] (d)[_z__“g

If a, B are the roots of ax®+ 2x +c=0and o + 5;|3+B
are the roots of Ax?+2Bx+C=0, then what is
(* - ac)/ (B* - AC) equal to?
(@ (b/BY ) @/ AP
(© (%Y (4%B%) -(d) (ab)/(AB)
What is the middle term in the expansion of
12
oy 3,
%)
@caansty®
bt cazex*y
©ca2nxy?
@caz6xy”
If o, B are the roots of the equation @x? + bx + ¢=0,then
what is thie value of (ac + b)™ + (aB + R
(a) a/(bc) (b) b/(ac)
(c) -b/(ac) (d) -a/(be)
Whatis the number of digits in the numeral form of 872
(Given log;g 2=10.3010)

(a) 51 (b) 16
(c) 15 (d) 14
Whatisthesumoftheseriesl—-l-+-1-—-1-+m?
- 32 4 8

Z b) =
(a)§ ()g

2 d) 2
(CJ2 ()3

If by, by, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what is
the value of d for which b% = byb; + byd + 2?

1
(a) 3 ®)0

@1 (d)2

If a, B are the roots of the equation x%-2x-1=0, then
what is the vaiue of o p2 + a 2p®?

(a) -2 (byo

(d) 34

Which one of the following values of x, y satisfies the in
equation 2x + 3y < 6,x 20,y 20?

(@ x=0y=3 (b)x=1y=2
©x=4Ly=1 (dx=4y=0
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What is the value of x at the intersection of y = -(——8—-4—)
andx+y=2?
@0 (DN}

@2 (d-1

74

75

76.

If A is a 3x3 matrix such that | A|=4, then what is
A(adj A) equal to?
1

(@)

‘o o » o o

V)

O&OO'—'O

[16 0 0

©]0 16 0

-0 0 16

{d) Cannot be determined, as data is insufficient
x x} 14042

IfA=|y y® 1+y*|wherex, y, zare distinct. What is
2 2 1+4° -

lAl? .

(@o . (b) xzy - yzx + X%

QC-9)0-0E-x) @

Two vectors & and b are non-zero and non-collinear.

© What is the value of x for which the vectors

77

78.

79.

p=(x-2)@+band q=(x+ 1)@ - B are collinear?
. 1

@ : ®) 3

(C)§ @2 -

If & and B are position vectors of the points A and B

respectively, then what is the posmon vector of a point C

on AB produced such that AC=2AB?

(a)Zi’—b (b)Zb—ﬁ

©3-2B 3-8

If|&| =3 | b = 4, then for what value of A is (+1b)
perpendicular to (& - A B)?

3 4

(a) 29 ® 5
3

© % () 3

What is the magnitude of the moment of the couple

- consisting of the force ¥ = 31 + 2§ - k acting through the

pomt i- j+f( and i" acting through the point
2A-3j-k

@) 25 ‘ (b) 35

(©) 55 @745

81.

82

Let&=2j-3k b=j+ 3ﬁandi’=—3‘§+33+ k.Leth
be a unit vector such that & fi= b f =0, What is the

value of ¢ A? .
@1 () V19
©3 o (d)-3

Let  @=i-j¥=2i+5j, wW=4i+3] and
p=i + ¥+ W. Which one of the following is correct?
(@ -3 +2V=p (b)38-2¥=p -
©3t+2V=p (d)-3d-2v=p

1 & and B are unit vectors inclined at an angle of 30° to
each other, then which one of the following is correct ?

 @|3+b]>1 ®)1<|d+D|<2

©|Z+B|=2 (@] R+DB|>2

If you want to measure the intelligence of a group of.
students, which one of the followirig measures will be
more suitable ?

(a) Arithmetic mean

(b) Mode

(¢) Median

" (d) Geometric mean

84.

In a lottery, 16 tickets are sold and 4 prizes are awarded. -

- 1f a person buys 4 tickets, what is the probablhty of his

85.

86.

87.

880 )

winning a prize ? )
4 75
; b) —
O 16‘ ® 256
' -81
(C) n d 756

If A and B are any two events such that P (A uB)=:7:,

P(A nB)=}1i and P(Z)zs, where 7\ stands for the
complementary event of A, then what is P (B)?
OF w2
3 3
1 i 2
- <
(0 i (d) 5

In a binomial distribution, the mean is 4 and the variance

is 3. What is the mode ?

()6 OF

©4 « @3

In how many ways can be letters of the word ‘CABLE’ be
arranged so that the vowels should aIways occupy odd

positions?
@12 - () 18
()24 - )36

1f X is changed to a + hU and Y to b + kV, then which one
of the following is the correct relation between the

regression coefficients byy and byy?
(@) hbyy =k byy (b) k byy
(©) byy = by @ kszy -hzbw
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89.

91.

92.

93.

94.

95.

96.

97.

A-card is drawn from a pack of 52 cards and a gambler
bets that it is a spade or an ace. Which one of the
following are the odds against his winning this bet?
(a)13to4 (b)4t013

(©9t04 (d)4tw9

A can hit a target 4 times in 5 shots;

B can hit a tatget 3 times in 4 shots;

C can hit a target 2 times in 3 shots;

All the three fire a shot each. What is the probability that
two shots are at least hit?

(@) 1/6 (b) 3/5

(c) 5/6 13 .

A box contains 10 identical electronic components of
which 4 are defective. If 3 components are selected at
random from the box in:succession, without replacing
the units already drawn, what is the probability that two
of the selected components are defective?

(@) 1/5 (b) 5/24

() 3/10 (d) 1740

For non-empty subsets A, B and C of a set X such that
AUB=BnC, which one of the following is the
strongest inference that can be derived?

(a)A=B=C ~ (b)AgB=C

()A=BgC () AcBcC

1fp is the universal set and P is a subset of u, then whatis -

PA{(P-p)u(u - P)} equal to?

@¢ ®P ©n @pr

Letp = the set of all triangles, P = the set of all isosceles

triangles, Q = the set of all equilatera! triangles, R = the

set of all right-angled triangles. What do the sets P NQ

and R - P represents respectively?

() The set of isosceles triangles; the set of non-isosceles
right-angled triangles '

(b) The set of isosceles triangles; the set of right angled
triangles ' '

(c) The set of equilateral triangles; the set of
right-angled triangles

(d) The set of isosceles triangles, the set of equilateral
triangles

Consider the following statements :

For non empty sets A, Band C

1.A-(B-C)=(A-B)uC -

2.A-(BuC)=(A-B)-C

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

If the toots of the equations

-@-1)x+(@+b)=0 and ax®-2x+b=0 are

identical, then what are the values of aand b?

(a)a=2b=4 b a=2b=-4

(;)a:l,bsi (d)a=-1,b=--i

A relation R is defined over the set of non-negative
integersas xR y = x* 4 y* =36. What is R?

@ {(0,6)} '
®{(6,0), W11 5, 3 3V3)}

(©) {(6,0), (6, 6)} o

@ {11, 5), @ 42, GVIT), (442 2}

98.

99.

100.

101.

102.

103.

104.

105.

106.

Consider the following statements :

1. Parallelism of lines is an equivalence relation.

2, xR y, if x is a father of y, is an equivalence relation.
Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

If o denotes the cube root of unity, then what is the real
root of the equation x* - 27 =0?

@30 (b) 30?

(©) 30 () 30° ,
Let O be the origin and point A be represented by z. IfO
is rotated through an angle /2 in the anticlockwise
direction keeping the length of OA same, then what
represents the new point? :

(@)-iz ) |zli

(c)iz d)s

Which one of the following binary numbers is the prime
number? .
(a) 111101 (b) 111010

(c) 111111 (d) 100011

What is the product of the binary numbers 1001.01 and
11.1?

(a) 101110.011 (b) 100000.011
(¢) 101110.101 (d) 100000.101
Under which oé the fpllowing condition(s), will the
q
matrixA=|2 5 1|besingular?
8 pp
1.q=0
2.p=0
3.p=20
Select the correct answer using the code given below :
(@1land2 (b) 3 only
(¢)land3 . (d1lor3

Consider the following statements :

1.If det A =0, then det (adj A) =0

2. If A is non-singular, then det (A'l) = (det A!

Which of the above statements is/are correct?

(a) 1 only (b) 2 only

(c)Both 1and 2 (d) Neither 1 nor 2

Let A be an mxn matrix. Under which one of the

following conditions does A exist?

(a) m=nonly

(bym=nanddet A#C

(¢) m=nanddet A=0

(dm=n

Let A and B be two matrices of order nxn. Let A be
non:singular and B be singular. Consider the following :
1. AB s singular ,

2. AB isnon-singular

3. A”'Bis singuilar

4. A"'Bis non'singular

Which of the above is/are correct?

(a)land3 (b)2and4

(¢) 1 only (d) 3 only
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107, Let Abeasquare matixof ordernxnwherenz 2 La 8 114, If Jtam B+ 4= 0, where (2/2) <8 <7, then what is the

be & matrix obained from A with first and second roivs

value of 200t = Scos B+ sin §?

interchanged. Then which oae of the Tollowing is -5 0L

correct? 10 10

(a) det A=det B (b) det A=-det B {c]E [iilﬂ

. [@A=B (d) An-8 10 10
108r Whatshoudd bethe value of ko that the system ofinear 115, Wharissin foot™ {ons tan ™! x)Hl where x > 0, equal ta?

equations x-y + Bl ke-y+sull Z+y-Ral

{ 1+1) {rrha
does not passess 3 unique solution? (a) ik 1]
(40 )3 : A3 [?, +1)
()4 (d)5 Ll Lt
lﬂi.If—:"+3.t+hﬂ,ﬂ1enwhll:hnrreufﬂwin]]mdngis c[xhl] d"(xi;.l]
CoTTect i
116, What is the value of cosec {137/12)?
(B xe(-1, 4 ()46 + {2 (B 6 42
(®) xel-1,4 (V642 (d) ¥ =42
(€) xefw,~1)uld =) 117, What s the value of
(d) s &= -1 w4 =) (s 8~ oos ) (cosec @ = sin &) (cot A+ tan B
110, What Is the value of (@1 {2
. Sin(A+ Bsin (A-B)+sin (B + C)sin (§ - C) () sin 8 {d) s ®
+6ln{C + Ajain (£ = 4)7 : 1 . ' f the
o, (b} sin A+ sn B+ inC 118, HME.E and f+y=0; then which one of t
(cheosA+ omB+omsC  (d)1 ' following is correct?
111 Giml_lhit tna=m/(m+ 1), tan=1/{n=1) then {8)2tanfi+tany=tane (b)tanf+2nystana
what is the value of a + 7 . {mfstny=tna (f)20@8 P+t y)=tana
() 0 (b}~
4 119, Wi s the value of 0+ 90 20,
':EJE ) n (o5 20 - sin 10%)
k) 1 ]
112, If x:rsin?m”:rs]nﬂﬁni and gerosh then [H]E ® -ﬁ
fiples is independent of which of the fodlowing ? (&3 (@) =43
(8] ronly bing 130. Ina triangle ABC, if ¢ = Zand A =38 then which cae of
e djrd the following is carreet?
113. What is the minitum valse of cos B+ cos 7 (a) The triangle is obtuse-angled
(1) -2 -2 (b) The triangle i acute-angled but not right-11gled
] (€] The triangle is right-angled
) (0)- % (d) The tlangle i isoaceles, but not obtuse-angled
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Answer: Mathematics

1 (b) 51 (a) 101 | (a)
2 (a) 52 (b) 102 | (b)
3 (c) 53 (a) 103 | (d)
4 (a) 54 (d) 104 | (c)
5 (d) 55 (b) 105 | (b)
6 (a) 56 (b) 106 | (b)
7 (b) 57 (c) 107 | (b)
8 (a) 58 (d) 108 | (d)
9 (a) 59 (a) 109 | (a)
10 (c) 60 (a) 110 | (a)
11 (b) 61 (c) 111 (b)
12 (c) 62 (b) 112 | (c)
13 (b) 63 (b) 113 | (b)
14 (d) 64 (c) 114 | (c)
15 (d) 65 (b) 115 | (a)
16 (a) 66 (d) 116 | (d)
17 (b) 67 (b) 117 | (a)
18 (b) 68 (b) 118 | (b)
19 (d) 69 (d) 119 | (c)
20 (d) 70 (c) 120 (c)
21 (a) 71 (d)
22 (d) 72 (c)
23 (c) 73 (a)
24 (a) 74 (b)
25 (a) 75 (a)
26 (d) 76 (b)
27 (b) 77 (b)
28 (c) 78 (a)
29 (a) 79 (c)
30 (b) 80 (d)
31 (c) 81 (c)
32 (d) 82 (b)
33 (a) 83 (b)
34 (b) 84 (c)
35 | (d) 85 | (b)
36 (c) 86 (c)
37 (d) 87 (b)
38 (d) 88 (b)
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39 (b) 89 (c)
40 (d) 90 (c)
41 (c) 91 (c)
42 (c) 92 (d)
43 (d) 93 (a)
44 (c) 94 (a)
45 (a) 95 (b)
46 (d) 96 (b)
47 (c) 97 (c)
48 (d) 98 (a)
49 (b) 99 (d)
50 | (b) 100 | (c)

10 |



